Chcml:ev‘ 2 lwtw)

29| J=Qv-

212 .
e o

05 C v/ﬁom - 5xl® A . 5 KA
Om s

om &m?

o) E = V 5V .5 x10% \V|m

%h)#_xlmmf’“ gma;»—r—erLJd{_V/ww % w;(:wzj - loo e

.,ﬁ_) Boron in om_acceplor == The_wolad_ia PZM&

b) /VA" 5x/0 em 3

>2ne

2 \‘;.- I\/rA = 52(_[0 m'3

N = n = !°2° 95 em™3

——wodxl6 3

R e “_.X § 205" x20
= ;= 72./5)(103 ™

CE) T sl (= M O)A_

2.33]

q
s = o I e

. S e R ol
p = /V e~ ‘Sx/o'x tmn_3 -

i lndgy_m &om Coéumn_ 3 C‘E.ke. Bo\ron) s 30 \ts_&m a.cca,f)kor

pe Ny T sy %_’;f,;_.tié"";‘s

28 2 ppz 105 e/ Vis

Nﬂ»{LMM 7Y/0'q o3 50 u;ﬂrn Fi
J ¥
o e ﬂp-Mw/vs

= | L tlmS.
P 0:62xi™)(Bo)( i)

Hitnoy

. So _w've 0 p- E:”]Q with NA 7)(/0 em™3. 77 2'1(, atk Fu K.




